
Pro-Tools 302 
“One Shot” Bender 



Parts for 302 "One-Shot" Bender 
Item No. Part Number Description Quantity Weight (lbs) 

1 B-302-P-PLT-BTM 302 One-Shot Bottom Plate 1 6 
2 B-302-P-YOK-15T 302 One-Shot 15-Ton Yoke 1 3.5 
3 H-WSHR-0.75-Z Hardware, Washer, 3/4", Zinc Coated 4 1 

4 H-HXB-0.75-10X1.5X1.5-GR5-Z Hardware, Hex Bolt, 3/4-10, 1.5" Length, 1.5" Thread Length, Grade 5, Zinc 
Coated 2 1 

5 H-HXB-0.75-10X7.5X2-GR5 Hardware, Hex Bolt, 3/4-10, 7.5" Length, 2" Thread Length, Grade 5 1 1 

6 H-HXB-0.5-13X2.5X2.5-GR5-Z Hardware, Hex Bolt, 1/2-13, 2.5" Length, 2.5" Thread Length, Grade 5, Zinc 
Coated 1 1 

7 B-302-P-ASSY-RLR-MN 302 One-Shot Main Roller Assembly 1 6.5 
8 B-302-P-HNGBLK 302 One-Shot Hinge Block 1 4 
9 B-302-P-C1512C One-Shot Hydraulic Cylinder, 15-Ton, 12" Stroke 1 24 

10 H-SHSS-0.5-20-0.5 Hardware, Socket Head Set Screw, 1/2-20, 0.5" Long 1 1 
11 B-302-P-SHFT-STB 302 One-Shot Stabilizer Shaft 1 3 
12 H-CLLR-SHFT-0.75 Hardware, Shaft Collar, 3/4' ID 1 1 
13 B-302-P-ASSY-ARM-TP 302 One-Shot Top Arm Assembly 1 11.5 
14 H-HXN-0.75-10-Z Hardware, Hex Nut, 3/4-10, Zinc Coated 1 1 
15 PIN-13 Pin 13 (B-302 Roller Pin) 1 3 
16 B-302-P-STND-TBL 302 One-Shot Stand Table 1 11 
17 B-302-P-SBAR 302 One-Shot Follow Bar Support Bar 1 4.5 
18 PIN-01 Pin 1 (U-Strap Pin) 1 1 
19 PIN-14 Pin 14 (B-302 Clevis Pin) 1 2 

20 H-SHCS-0.3125-18X1.375X1.375 Hardware, Socket Head Cap Screw, 5/16-18, 1.375" Length, 1.375" Thread 
Length 2 1 

21 B-302-ACC-STND 302 One-Shot Stand 1 29 
22 B-ACC-PA6 SPX 10,000-psi Air/Hydraulic Pump with Hole 1 19 


